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ME-403-CBGS
B.Tech., IV Semester

Examination, December 2020

Choice Based Grading System (CBGS)
Theory of Machines

Time : Three Hours
Maximum Marks : 70

Note: i) Attempt any five questions.

{H$Ýht nm±M àíZm| H$mo hb H$s{OE&
ii) All questions carry equal marks.

g^r àíZm| Ho$ g_mZ A§H$ h¢&
iii)Draw neat diagram where needed.

Ohm± Amdí¶H$ hmo dhm± {MÌ ~ZmB¶o&
iv) In case of any doubt or dispute the English version

question should be treated as final.

{H$gr ̂ r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ̂ mfm
Ho$ àíZ H$mo A§{V‘ ‘mZm Om¶oJm&

1. a) Discuss the kinematic concept of links in brief. 7

qbH$ Ho$ J{VH$s YmaUm H$mo g§jon ‘| ì¶m»¶m H$s{OE&
b) What do you mean by inversion? Explain in brief. 7

ì¶wËH«$‘U go Amn ³¶m g‘PVo hmo? g§jon ‘| ì¶m»¶m H$s{OE&

2. a) What do you mean by free body diagram? Explain. 7

‘wº$ {nÊS> AmaoI go Amn ³¶m g‘PVo hmo? ì¶m»¶m H$s{OE&
b) Explain the D Alembert’s principle in brief. 7

S>r Ab‘~Q>© {gÕm§V H$mo g§jon ‘| ì¶m»¶m H$s{OE&
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3. a) Find the number of instantaneous centre for a six link
mechanism in planer motion. 7

Vbr¶ J{V ‘| N>… H$‹S>r {H«$¶m{d{Y Ho$ {bE VmëjmUrH$ Ho$ÝÐm| H$s
g§»¶ kmV H$s{OE& >

b) What are the cams? Classify cams. 7

H¡$‘ ³¶m hmoVo h¢? H¡$‘ H$m dJuH$aU H$a|&

4. a) Discuss the cone clutch in brief. 7

e§Hw$ ³bM H$mo g§jon ‘| {ddoMZm H$s{OE&
b) What are the different friction devices? Explain. 7

{d{^Þ Kf©U ¶wp³V¶m>± ³¶m h¢? ì¶m»¶m H$s{OE&

5. a) Discuss the type of gear in brief. 7

g§jon ‘| {J¶a Ho$ àH$ma H$s ì¶m»¶m H$s{OE&
b) What do you mean by gear trains? Explain. 7

{J¶a Q´>oZ go Amn ³¶m g‘PVo h¢& ì¶m»¶m H$s{OE&

6. What do you mean by module? Axes of a pair of spur gears are
200mm apart the gear ratio is 3:1 and number of teeth on pinion
in 20. Find the module of the gear. 14

‘m°S>çyb go Amn ³¶m g‘PVo h¢? Xmo ñna {J¶a Ho$ Aj 200 {‘‘r H$s Xÿar
na h¢& {J¶a AZwnmV 3:1 Ed§ {n{Z¶Z ‘| Xm±Vm| H$s g§»¶m 20 h¢& {J¶a H$m
‘m°S>çyb ³¶m hmoJm?

7. What are the Helical gear? Find the circular pitch of a toothed
wheel having 24 teeth and module of 4.25mm. 14

Hw§$S>{bZr {J¶a ³¶m hmoVo h¢? 24 Xm±Vm| VWm 4.25 {‘‘r Ho$ ‘mS>çyb dmbo
Xm±VoXma n{hE H$m d¥Îmr¶ {nM kmV H$s{OE&
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8. Write short notes on any three of the following : 14

a) Brakes

b) Critical path motion

c) Tooth profile

d) Spur

e) Pressure angle

{ZåZ ‘| go {H$Ýht VrZ na g§jon ‘| {Q>ßnUr H$s{OE …

A) ~«oH$

~) {H«${Q>H$b nmV ‘mofU

g) Qy>W àmo’¡$b

X) ñna

B) àoea E§pÝJb
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